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000000oooono 00000odddddo hODODOOODODOOOOOO
goboboobooo oobo gnbbrgbO0Ob0bOo0obbOoon
gooo DbDOobobobgoo

040 000000000000 (OO)

42 000000

0000000000000 00000D0 +000000000D00D0D0DOOOOOOOO0O (lumped
constant circuit) 000 0000000000000 0OO0OOO0OOOD0OOOOOODOUOOODOOODOOODOOOO
gogoooobooooobo

421 0O00O0ODOODO

ocoooo0ooCoOo0oOopoO0O0oDOOoOoOoOoO0U0bOoOooOO00oDOoOo30oOoOU0OoOoOoUbDOUOogDbooUDo
0000000 (Poynting 0000)00000000000O00O0ODO0OOODOOOOOODOODOODOODOOOO
gL oL DD O
0000000000000 0000000OD0O00O0DO0OO0ODOO (strip line)d000 (waveguide) JO0ODOOO0O
(coaxial cable) D000 DO0O
0000000 U0GHzOOOOOOOUOUOOUOODUOODOUOODODUODODODODODODDODODOOOOOOOOOOOOg
0000000000000 0000000000000D000000000O0D0O000 44()00000O0
gboboboboboooooooobobobobO0bobOoobobUbOobobOobOobOobOoDbOoDbDOD
0000000000000 00ODO0D0O00O00OD (Do)oOoDbOooOOooOoooOoo

) dx 5 000000 (distributed constatn circuit) 00 0* 0000000000 4.4(c)00

—dv 0400000000000 O0OOCO0OO0O0ODOOCOODOOOODOOOODODOO

e e~ O000d00000o00o00o0o0DoU0o0U0oO0O0 LO0oooo coooooo
Zdx cO0O00ooooU00OooooU0UooooOUU0DOoooOOoUOoOoooOOoOOooLOO

—dJ 0000000000000 000000000000000000000d Biot-Savart
Ydx o000 booooobobooobobooo

v I oboboboooooobooooboooobooboobooboboobobooooobooo

*1 000000000 Oliver Heaviside (1850 ~ 1925) 000000000000 [1]0
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e e 75
=L R

(a) (b)

044 (a)000000000OCOOOOOOOOOOOOOOOOODOOOOOOO()ODDOODOODOOOOO
(()000000000000000000000 RGH9/UDDOODO 62mmO000000000 (DDO)0O 73Q0
000000 webpageOOO(¢) 00DDO0OO0ODDO0OODDOOODDOOODOOODOOOOO4000000DO
goboobooooboobooboboobobooobooboboo

gooo
00o0o0ooooO0o0o0ooooo0400000000000000000O0COOO00OOOODOOO0OOOOdx
0400000000000000O0O0OO00O0ODOOOO0 JOOOODOOOOOODODOOOVODOOOOOO dx
0000000 dJO0000000 Ydz OOOODOOOOOODDODOOOOOODOOOOO ZdzOOOO AV ODOO
ooooooooozZ)yooooooooooooooooooooooooooooooooooooooooo

0000000000
AV = —JZdz, dJ =-VYdx (4.8)

gobobooboooboobboobbooobboobboooobboobbooobo

d2
Eéﬂzyzi (4.9a)
d2
-agzzyzv (4.9b)

0000000000000 DO00O0D0O00 (telegraphic equation)0 00000 (lineman’s equation) 00 0O
gogoobooao
k=VYZ (4.10)
0000 (k0000000)dz=000 J,V O J(0,4),V(0,¢) 000
J=J(0,t)exp (£krz), V =V(0,t)exp(L£kz) (4.11)
0000000000000 000000OD00O0O00O0D(4.11)0 49%)00o0ooo

1% Z 7
v__4__/%4 4.12
FEF =Ty (4.12)

0000000000000 00000D000 (characteristic impedance) 000 O J(0,¢) = Jp expiwt, V(0,t) =
Wexpiwt0ODOUO0OD wOO0D00D0O0O00Oexp(—kz) 000000000200000000exp(kx) 000 —x
gooooooooooooa
MaxwllOOOOODOOOOOODOOODOOODOOODOODOOOODOOO e(=€¢€) (,00000)00
ooo M(Z,ur,uo)(MTDDDDDDDDDDDDDDDDDDD 1)000000000000 200000000
od
E = Ey(x,y)e™"™% H = Hy(z,y)e™" 7> (4.13)

000000 2[0Maxwell 000000000000 OOO0OODOOOODOOO
2 o (Ez\ _ [(—70. —iwpdy\ (E.
(W ep+77) <Ey S \—0y  iwpdy H.)’
H iwpo —70 E
2 2 xT _ y x z
(wien+77) (Hy) = (iwu&m 7@/) (Hz) .

8-2

(4.14)



00 0O0TEM (transverse electric and magnetic) 00000000 E, =H,=0000000(4.14)0000
gobboobbooobboobobbuoobboobbooo

W+ =0 .y =diw/en (4.15)
gooboooboooog )
AN TR T

gogoo
0000000000 Maxwell0OOOOOO0Orot,,H =00r0t,, E=00000000000004Y0OVO

ooo
E =V, U/e, H=V.,V/\/i (4.17)

gooooood

gooood
ou 9y ou v

~ - =__ZZ 4.18
dx Oy’ Oy Oz (4.18)
O00f(w)=U+iVODw=zx+iy00000000000 Cauchy-Riemann 00 000000000000 0OOx
goboboobooboooboobuoobboobbobooobuoobboobboobbooo
00000000 JOODOOOODODODODOOOODDOOODOOO0ODDU(OOODD)OODLDODDOODDOOOO
goopooooooDOooooooDOooooooooooDoooooDoD U,0U, ODDD0D0OD0DOD00ODD0D0OO00OOO

U, —Uy)//e0DD0D0000O000O00O Zy O

Uy — Uy

7 4.19

o=t (4.19)
000000000000 oooooooooo0ooo0oUoooooDoDoD MaxwellDOODOODOOOO
oooooo0OO00O00Z, 0000000000000 0000O0 ¢eODOOO
0000000000 oo0o0oooooooo CcooooOoroobOoUOOO
Gauss 0O OO0 ¢/(2rer) 000000

q [° dr q b

q
V:— —:—1 _ = —
€ ), 2rr 2me Oga C

2me
C = Talo/a) (4.20)

000000000 JOOOODOOO0OOO0OD (DDOOD0)0b0 —JoOOOODOOO
oooboooooooooooooooooooooooboboooooboOoooDooog
ooooooooO0O0r-r0o000O0Oo0O000O0OO0O00O0OOJOoOooOoO0O0

H)= 5o BO) =45

= o T 27y

00oDoooooooooooooon @0

b
wJ b
o = drB(r) = — log —
/a " (T) 21 Oga

00oDo00o0oooooooooooooooo Lo

L= % log(b/a) (4.21)
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(412)0000000000DOOO0O0ODO LOCOOOOOOOODOODOOOOD \/L/COODOOOO

Zo = \/g _ %\/glog (2) (4.22)

gogobooaoo

422 000O0OO

0o00ooo0o00oooO0o0oO0oooOo0oOooooOOo0o0oooOoTEMOOOOOOOOOOOOOOODOO
gobooobooooo 200b000oooooooobobo0oobbo0ooobOoooOooboobOoooooboOoooDoo
0000000000000 000*0000000000000000(4.9)0000000000000000
gobooobOoooooooobOoOoOooOOooOoOoooooOo0ooOoooooooooobooboOona

Zo = JH2 ~ 3760 (4.23)
€0

00000000000000000000000000000000000000000000000+/p/e00
00 (00)0000000000000000000@MO00000000000000000000200000
00000000000000000000000000000000000000000

000000000000000000000000000000000000000000000000000
00000000000000000000000000 (0000000 Lecherline) 010000000 (0)00
0000000000000000O0OVHFOOOOOOOO0OO000000000000000000000000
00000000000000000000000000 (00000000000000000000000)0
000

045)0000000000000000000000000000000 x000000000000000
00 «00000000¢0O0000 (000)000000000000000000000 »0000 ¢/2rer
000000000000 0000000000000000 ¢(r) = (¢/2me)log(r/a) 000000000 4.5(a)
00d>»e¢000000000000000000000000000000O0O000OOOOOOOOOOO0 FJO
0000000000 ¢0¢;, 00000

J
_ e log d (4.24)
2m a

d 2a

(a)

045 () 000000000020 00000000000000()00000DO0OO0O0OOODDOOOO
0000000000000 00000000000000(¢) 0000000 OOOOOOOOO 3000Q00
Oo00oO0 webOOOOODO

200000000000 [3)000
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oobboooboooobooooooobooOoOobOboOoOoDOOobOOoOoOoOoOoOoOobooOoOooDn

1
Zo = /% 10 2 (4.25)
€T a

00000 45(c)0000000000p=pnle=¢000d/a=10000002%,=277Q000000000
oooo3QoUi000o0oo0o0ooU0o0oUo0ooUo0oooOU0DoOoUo0OoDDOOoOoUoOOoOoDOO
gooooo

423 000ODOO0OOOODOOOO

000000000000000000000000000000000000000000000000000
00000D00000000000000000000000000000000000000000000000
00000D00000000000000000000000000000000000000000000000
0000000000000000000000000000000

00000000000D000000D0000000000000000000000000000000000
00000000000000 (microstripline) 10 000000000000000000000000000
0000000 46(a)000000000000000000000D0000000000000D00000000
0000000000000000000000000000000000000000000000000000
0000000000000000000000000000000000000000000000000 4.6(a)
0000000D0000000000000000000000000000000000() 000000000
000000000000000000000000000000000000000000004.6(b)0000
00000000D000000000000000000000

000000000000000000000000000000000000000000000000000
00 4.6(a) 0000000000000D00000D000D000000000D000D0000000000000
0000000000000 00000000000000000PCO00D00000 GHz0000000D0
00000000000000000000000000000300 (02500)0000000000000
00000D000D000000 (0000000000)0

046(a)000000000000000000000000000D0000D0000000000 40000
0 (W/h>33)000000000

Zro (W 1 e +1 me (W € — 1 er2) !
Z(W, h,e,) = 2 4 Zlog4 log [ 2 (2 +0.94 log L 126
(Woh,er) 2‘A;'{2h/+’w 8ttt o Og{ 2 <2h'+ )} oz %16 } (4.26a)

h Bp h &y

(a) (b) ()

046 () 00D00O0O0OO00DOODO (OOO0DDOOOO0)0O0DDOOOOOOOOODOOOO() OOOO
0000000000000 000000000000000OOd(e)0D0O0O0OO0OOOOOoOoOooooo
gooooOoooooooO0oO0oO0oooOooOO0o0oO0O0booOOO0O00O0oOO0000ooO00000
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0ooo (W/h < 3.3)

Zro 4h 4h\? le,—1 T 1. 4
ZW,h,e) = ——9 {log | — — 2| — = log = + — log — 4.26b
(W:h er) m/2(e, + 1) W T (W> " Yo r1\ %2 ey ( )

0000ZpO0ODOOODDOO0OOOe 000000000 (e=€66€)0000000000000000OO0B]O
gooogoo

43 O0O0ODOOOOO

431 O00O0ODOOOOO

(416)0J00000000O00OOODOOOOOOOTEMODOOOOOODOODOOODODOOUOOOODODOO
000000000000 000000000000000000000000000000000000000
0000 (000000)00000000000000DO000000O00DO0DO000O0O0O0DO0O0ODOOOO
goboooboooooooooooOoooooOoobooOoooon

0 (41000 kOO0Z=R+iwlLO00000O0D0 wODOOOODO

1/2
1
R ) W R (1.27)

=wVvVLC|1—i— ~f— = —
k(w) = iwV ( i~ Zwo > 7,
0000000000 D0wO0D0000 w>» R/LOOD0O0O0Ow,=1/vVLCOZy=+/L/CO00000exp(—kz+
iwt) D00 000000000000 00O0 exp(—R2z/2Z,) 00000000000 2Z,/ROOD0O0OO0ODOODO
odo00ooooooooU0U0oooooU0UUUoooooOD Zy,OOooODDoOoOUoUUooooDoooooooooo
gooobooobooobbooobooobbooobooobooooUb bbb boobboobboobbo o

ZoOOOOooooooooo

432 O00O0O0O0OOOOO

00!000000000 Z,0000000000000000000
T 02z, 000000000000200000000000000z=000
+ Zo (4.12)

V=V, + Vo =2Z(J —Jo) } (4.28)

J=Jp+J_

,‘Lx oooooooo+0-0000000000000000000000A0
%l 6= O00O0O0expFrkx00000O00O0O0O0OO0OO
Vg
Zi== =27 (2=0 4.29
TS g =0 (4.29)

000000000000 0000 2=0000000000 (0D0OD0)000O0O0O0ODODOODODOODOODOOO

goooboono ro
Ve I Zi— %

_v_ _J_ 4.30
V+ J+ Z1+ Zy ( )

r

0000000000000 000000000000000000000000000000000000Z; = Zy
gopbooobobooOoDpDOOUOU0OOOUODOO0ODOOO0ODOOOOOODOOUO0OOUODOOUOODOODOOO
goooboobooobboooboobbooopbodbbodbo0b bbb boobboobbOoo

*O0oOo0oDoOoDOoOTEOOO (000000000 D0O0O0)DTMOOO (DOODOOOO0ODOOO0OO0)O00D0O00D0O0OOOO0ODO0OOO
gooooooooo
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000o000o0oU0oO0oOoU0o0oUo0oOoU0o0oU0oO0OOoUO00DO0OO0OUO0OOoOUOo0OODDOOOoUOOO
0000000000000 0000D00D0O0O000 (voltage-standing wave ratio, VSWR) 00000 OO0
ooooooo

1
vswRr = 211 (4.31)
1—|r|
00000000 MHzOOODOODOODOODOODOODOODOODOODODOODOODOOoOoOooooooooo
oooooooo0xz=-100
V =Viexp(kl) + V_exp (—kl) = Zo(J+ exp (kl) — J_ exp (—kl)) 139
J = Jyexp (kl) + J_ exp (—kl) (4:32)

ooooooooOoooooooooooooo zi O

V. Jyexp(kl) — J_exp (—«l)
7 = — = Z 4.33
T T Tiep (kD) + J_exp (—rl)° (4:33)

gobobooooooooo O
r; =rexp (—2kl) (4.34)

0oooo
00000000 k=iw/ILC =i 0000000 (4.33)0 /0000 tanh(kl) =itan () 00000000
0000000 v/(2rw)0 AOOODOZ 0 A/2000000000000=A/4000

=727, (4.35)

D00000000000000000000000000000000000 A/400000000000000
Z;=o00(00)000000000O0O0O0DODOODODO0ODODOODOODOO (Z;=0)0D0000000O0O0OD
D00000000000000000000000000000
00000000 % 00000 Z,00000000000000000000000000000 Zj0000
00000000 Z,000000000000000O00O0ODOOO0OD
_Zy- 4

4.
A (436)

ooboooboooooocoooOoooOooOoOoOobOOoOoOobOboO0OoDObocOoOoOoOoOoOooOOoOoooDn

433 0O0O0O0OOOOOOOOODOOOODOOb

00000000 Z; 0000 00000000000 DOODOOODOOOOO (Smith chart) 0000000
ooooooooouooo0Z; 0 Z,0O00ODO0DoDOooooooooooo0D0 Z,000000000Z%, =x+4 1y
r=u-+iw (z,y, v, w1 00)00000

Zn—1 (x—1)+1y

utiw=r= = - 4.37
Zn+1  (z+4+1)+iy (4.37)
gooood
r—1=(z+1u—yw
(4.38)
y=yu+w(x+1)
0000000000000 00D20000000000D00O0OOM.38)00 yODOOODO
2
x 9 1
— =— 4.39
<” :c+1> BRCEN)E (439
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gobooooboooooooobooobooooyboooooo

) 1\* 1
w-1)+<w—§)::?- (4.40)
00000000D0000000000000000000000D0000020¢>00000000000¢0
0000000000000000(4.37)000000000000000000010000000000000
0000D000000000000470000000000000
0000000000000 00000000000000000000000000000000000000

0000@437)00Y=1/Z00000
1-Y
"Tiyy
000000000000 (437)000000000000000000000000000000000000
000000000 18000000000000000000000000000000000000000000
0000000000000 (immitance chart) 00 00000??2000000 LCROODOOOOOOOOO00
0000000000000000000000000000000+00000000000000000000
00000w=0,0000000r=100000=100000000000000000000000000
000
000000000000000000000000000000000000000000000000000
0000000000000 00000000000000000000O0 SO00000000000000000
000000000000000000000000000000000000001)0000000000000
00000000000000000000000000000

(4.41)
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